Pre-Degree Examination, 2024
Bengali (Core)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin
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» | QLA I BT ¢ (-G qF0) . \‘{xﬁ%
@) Once two women were quarrelling about the claim of a child. They went ‘to tbe judge
for justice. The judge called the exceutioner and ordered, “Cut the child into two

halves and give one half to each of the woman.” One of the women, when she heard
the order. remained silent. But the other woman began to weep.

(4) Patriotism is love for one’s country. It is a powerful sentiment and w.holly unselﬁs.h
and noble. A patriot can sacrifice even his own life for the good of his country. It is

an idcalism that gives courage and strength. But false patriotism 1s dangerous. It
makes a man narrow-minded and selfish.
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Pre-Degree Examination, 2024
English (Core)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

1. Answer any two of the following questions: 8x2=16
(a) “Oft of one wide expanse had I been told
That deep-brow’d Homer ruled as his demesne’

(i) Who is the speaker here? Where is the line taken from? 1+1
(i) Who is Homer? 1
(1i1) How and where did he rule? 5
(b) “Yet this will go onward the same
Though Dynasties pass’
(i) Who is the poet? 1
(i1) What does the poet mean by ‘this’? 1
- (iii) What is the meaning of ‘Dynasties’? 1
(iv) How is the said activity contrasted with ‘Dynasties’? 5
(¢) ‘The peasants came like swarms of flies
and buzzed the Name of God a hundred times
to paralySe the Evil One.’
(i) Who is the poet? Where does the line occur? 1+1
(i) Why did the peasants come? 2
(iii) What did they do? 4
2. Answer any two of the following questions : 2x10=20
(a) “They fell into the suggestion with a readiness that had something uncanny about it-"
(i) Where does the line occur? Who is the author? 1+1
(ii) What was the suggestion? 1
(iii) Who are referred to as “They’? How did they react? 1+1
(iv) What did the speaker have to do afterwards? 5

(b) “Poor old chap!”..., “how miserable he looks!”
(i) Who said this? When did the speaker say so? 1+1

(ii) Who is the ‘poor old chap’? 1

(iii) Why did he look ‘miserable’? 9

(iv) What role did the ‘poor old chap’ play in the life of the speaker? 5
(c) “Then one day he found a great treasure in the jungle....”

(i) Who is the author? Where is the line taken from? 1+1

(i) Who is referred to as ‘he’? 1

(iii) What is the ‘great treasure’? |
(iv) Why did he consider it a ‘great treasure’? What did he do to fetch it later? 2+4
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3. Answer any one of the following questions: ' ‘ , 12x1=12
(a) Sketch the character of Madhav as reflected in the play ‘The Post Office’. 12
(b) Discuss the interaction between Amal and the watchman. )
(¢) Briefly discuss Amal’s longing for freedom in ‘The Post Office’. 12

4. Read the following passage and answer the questions that follow : 12

Geetanjali Shree has become the first [ndian author to win the prestigious International
Booker Prize for her “utterly original” Hindi novel Tomb of Sand, a family saga set in
Northern India about an 80 year old woman who travels to Pakistan to confront the

unresolved trauma of her teenage experiences of Partition and re-evaluates what it mieans
to be a mother, a daughter, a woman and a feminist.

At a ceremony in London on Thursday, the 64 year old Mainpuri-born, New Delhi based
writer said she was “completely overwhelmed” with the “bolt from the blue” as she
accepted her 50,000 pound prize, shared it with the book’s English translator Daisy
Rockwell. The prize is split between the author and the translator equally.

Tomb of Sand, originally Ret Samadhi in Hindi, is set in Northern India and follows an
80 year old woman in a tale the Booker judges dubbed a “joyous cacophony” and an
“irresistible novel”. “I never dreamt of the Booker, I never thought I could. What a huge
recognition! 1 am amazed, delighted, honoured and humbled,” said Shree in her
acceptance speech. Reflecting upon the first work of fiction in Hindi to make the Booker
cut, she said it felt good to be the means of that happening. Rockwell, a painter, writer
and translator living in Vermont, US, joined her on stage to receive her award for
translating the novel she described as “a love letter to the Hindi Language”. The author
of three novels and several story collections, Shree’s works have been translated into
English, French, German, Serbian and Korean. Originally published in Hindi in 2018,
Tomb of Sand is the first of her books to be published in the UK in English by Tilted
Axis Press in August 2021.
(a) Write ‘True’ or ‘False’ :

(i) The main character of Tomb of Sand is 50 years old.

(ii) The novel is set in Northern India.

(ili) The award winning novel is translated from English to Hindi.

(iv) The author of Tomb of Sand received a prize money of 50,000 pounds.

(v) The author of Tomb of Sand is born in Mainpuri.

(b) Answer the following questions :

1x5=5

1x2=2
(i) What is referred to as “a love letter to the Hindi Language”?

(i1) 'What does the story of Tomb of Sand deal with?
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() Complete the following sentences with the information from the passage :

. 1x2=2
(1)  The original title of Tomb of Sand is
(i) The translator of Gitanjali Shree’s novel is

(d) Find out words from the above passage meaning the following : 1%3=3

(1)  Severe and lasting emotional shock.
(i1) A long account of series of incidents.
(iif) To divide something into two or more parts.

. Answer any one of the following : 8x1=8

(@) Write a letter to the Editor of an English daily expressing your concern over
excessive use of ground water, leading to shortage of drinking water.

(b) Write a letter to the Officer-in-charge of your local police station requesting her /
him to take necessary steps to check the misuse of loudspeakers in your locality.

. Frame Wh- questions with the words given in brackets (any four) : 1x4=4
(@) The parents were overjoyed at their daughter’s success. (Why)

(b) She completed the task with ease. (How)

(c) They were going to visit the Botanical Garden. (Where)

(d) The teacher told you this yesterday. (When)

(e) Most people think that he is very clever. (What)

(f) The man was the main inspiration behind her success. (Who)

. Fill in the blanks with appropriate prepositions (any four) :

1x4=4
(a) She wanted to get rid the matter.
(b) The doctor prayed an extension of his service.
(c) The programme was to start - 10.00 am.
(d) You can always depend her in a crisis.
(e) Hours

advance, people gathered there.
(f) 1am reading some short stories Tagore.

. Write opposite words of the following and make sentences with them (any two) :

Q) calm 2x2=4
(i1) smooth

(1ii) ancient

(iv) lazy
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Pre-Degree Examination, 2024

Philosophy (Elective)

Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

Group — ‘A’ (RS9 - F’) Marks: 40

I. Answer the following questions : Ape exefm Ted v : 1x10=10
(a) How many types of propositions are there according to relation? Name them.
AFF GPNE I I &I 8 | JN?
(b) Which term is distributed in a negative proposition?

FpLF IS @ M I 2
(c¢) Transform the following sentence into its logical form.

TNF I SHRWPTTS 6 FARBT© 9 1
A man can never be a God.
GFEN T FIR (Mol F0o AT
(d) If E proposition is false then what will be the truth value of I proposition?
¥ E 354 0t 27 S0 [ I607 ORI A?
(e) Give the conversion of the following proposition :
e 6416 Aoy 9 :
All politicians are rich persons.

e IS W 4 IfF |

(f) ‘All men are imperfect’ — What will be the obverse of this proposition?
STpe Wed TW A9 1 - I6A107 ([RI(6© I5A16 B2
(g) What is the principle of Uniformity of Nature?
A43fer q@moel JifS INF T2
(h) What are the formal grounds of Induction?
YA AR SRS fof F F?
(i) In which figure ‘FELAPTON’ is a valid mood?
‘FELAPTON’ (1Y RZAF (34 fe?
(j) Give an example of a universal proposition?
G3fB AN I6CAF TAIZAT TS |
2. Answer any four of the following questions. BT @ @I BEG AT TSI WS 1 2.5x4=10
(a) Converse of the Obverse : Few mangoes are sweet.
ReSere AR 7 ;@ e &R 2
(b) Why simple conversion of ‘A’ proposition is not possible?

‘A’ IBLTA I AT T T (FA?
(c) What do you mean by Contradictory opposition? Give example.

s ffast Iee F @RI? THzd Wi
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(d) What is meant by the quantitative marks of a cause?
IR ~AfFrsTs el 91 LR TS BRI

(e) Explain with example : Fallacy of Undistributed Middle.
TARRATHR [ 9 TG @ M

3. Answer any two of the following questions : Fcea @ @A Go ST BHH MG - Hia=al
(a) Give the contraposition of the following propositions. >+5=10

e Tl TRafes wet mrs
(1) All saints are not pious.
e A i T390
(i1) Only honest persons are happy.
(FIENE T EEAR JA
(b) Answer the following questions :
e eeffa Teg wie :

(i) Distinguish between Common Square of Opposition and Aristotelean Square of

5+5=10

Opposition. 5
Srgrael f{eary bgrEd 3 WifEesheETe [y vewe O Wi < A 39
(ii)What is sub-altern opposition? Explain with examples. 2+3=5
o7y el e T2 SRR AR [P T
(c) Test the validity of the following arguments. 5+5=10

frfafie el el o o9
(i) He must be a coward, for he is dishonest and only dishonest persons are coward.
T TR i, I (T TR €2 (FI TS EATAIZ O |
(ii) All that glitters is not gold, diamond is not gold, therefore diamond does not glitter.
A 5B I8 Gl 73, A G 77, JoqR A 5568 I 1

(d) When air is removed from a jar there is no sound of the bell in it. Therefore, the presence
of air is the cause of sound.

., Identify and give the symbolic form of the method applied in the above inference.

Mention the canon of the method and write the merits and demerits of the method.

2+2+3+3=10
OS5 IPITZE TOIRM I IR A1 @41 IR T3S *1rorm wrgel
TS SBrs (@ e e I TR o e 3w a3t o Ao arer
T 91 afefbd Al Tme T 3k R4 ¢ ey A
Group- ‘B’ (R®I% - ¥) Marks : 40
4. Answer the following questions : 54 Xl Tag wie - 1x10=10
(a) If ‘p D q’ is false then what will be the truth value of ‘~pvq’?
M po g R 28 o “~pyvg’ @7 oY i I?
(b) What is disjunctive proposition?
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(3)
(c) What is the form of Modus Tollens (M.T)?
RO ATES (M.T) TR ArEfS B2
(d) Symbolize the following statement by using capital letters ‘R’, ‘E’, ‘S’ and ‘L’
s e a9 F9 wie ‘R, ‘B, S’ 8 L' I I3

If you plant rose, then your garden will bloom early and if you plant sunflower then your
garden will bloom late.

s O IS M, SR oM AN A T FO A A gfit SN M OREA
CSINTE AT (TRICS Fol FOA | '
(e) What is self-contradictory statement form?
FoYT IBASE INF T2
(f) What is the negation of a disjunctive proposition?
a3fs 3ol e s J 37 @
(g) When will the propositional form P o ~ P be false?
T P o ~ P oA W 732
(h) When does a conjunctive proposition become true?

G306 AN b FAF 7S] T?
(i) Show the valid form of disjunctive categorical syllogism.

ROHS FRerT TR {9 AED (Tde )
(j) What is a ‘statement variable’?
IHAARS JICF ICEI?
. Answer any four questions : (& (I B oTs To wie 2.5x4=10
(a) Determine the truth value of ~ (~p.q) with the help of truth table.
HOARAR AR ~ (~p.q) IBAFRBT Forgen fAefa 21
(b) State the definition of a conjunctive proposition and show its truth table.
FLAAE LA AT WS IR O TSP (TS |
(c) Explain with example the exclusive meaning of the word ‘or’.
QA = R o SuIaeR Y I

(d) Distinguish between Material Equivalence and Logical Equivalence.

FETe Tl 8 @ifes siderd Wiy ik [da w41

(e) Test the validity of the following argument form using truth table :
TR AR IE ARG L34l b7 Fea
poq/..~qD~p :
. Answer any two of the following questions : (3 (I it ora Tex wie 10x2=20
(a) Explain with examples tautologous and contingent statement forms. 5+5=10
TOPTE] Y2 WO IR SRR R [ FH 1
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()

(b) Determine the truth value of the following statement forms using truth tables. 5+5=10
Frfefirs IpAREeR TopTad TeE S TeRp Al ¥
(~(pvy=(p-~q) :
(i) [(poa)-(q2p)]> Kp-q) v (~p-~9)]

(c) Use truth tables to determine the validity or invalidity of the following arguments. 5+5=10
SepTRde R Fwe e tage! at |tagst Ay 9
(i) ~AD(ADB)/ .. (~A.A)DB

(ii)  If Gita withdraws her name from the contest, then either Mita will win the nomination

or Rita will be disappointed. Mita will not win the nomination. Therefore, if Gita
withdraws her name from the contest then Rita will be disappointed.

nﬁ%m%mﬁ@cmﬁmmwmmmﬂﬁwmﬂm@w
Srot zoMt =@ frel wewEA faew W eAr M et fvew A afscarfaret (At
ST ILA (7 OIZCA At Tor A |

(d) If P and Q are true statements and R and S are false, then determine the truth value of the
following statements. 5+5=10
T P’ ¢ ‘Q’ Y /A W UR ‘R’ 8 'S’ it 27 o e vl oy oM +

(i) ~[~(P.R).(Sv~Q)]

(i) (P2 R).(Q>8)]=~[(PvS)>(QVR)]
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Pre-Degree Examination, 2024
Tabla (Vocational)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

Yo o SRie agiel @ @ of o[rq Twg WS
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3 frorem sl srmE 45 -1t (o2 TR Srete SrEfits FfRE T 8+8 =br

o1 i sifapa e FEffe @ @ b eI ¢ Ik ¢ favd TRwRTe FbRm w9
() dsreE (V) faer (o) TR
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81 T OFI-IARE 7Y @ B2, THIACS SroUe T~ Aafors 1 8+8=br
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Pre-Degree Examination, 2024
Economics (Elective)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

. Put the correct answer in the blank space : 1x10=10

BRIEUSH e Tealt e :

(a) When AC is minimum, then MC is (>AC/=AC/=0). 1
T AC o, 939 MC (>AC/=AC/=0)

(b) In monopolistic competitive market we find many buyers and ____ (many/few/only
one) sellers. k
ATHHT AP IGE WA @Ol qR (/TG /TG
93 e A |

(¢) The supply curve of a firmis _____ downward moving/upward moving/vertical).
el @ (MR /SR gR/eE) |

(d) The reward for using land by other is (profit/rent/interest). 1
o e T SN 9T AR &0 A M AN W o1 XA (TR /ASA/) )

(¢) When TR increases, then MRis (zero/positive/negative). 1
T4 TR G, O34 MR (¥0/ <A /A14<) 3

(f) Average propensity to consumeis (g ,E,Z) . 1

¥ r C
AT (ol &S] T (9,9,5) .
— \Y r C

(g) The amount of credit of commercial banks is controlled by _ (central
bank/nationalized banks/ private banks). 1
Tfifre Tt I ARkmd g 3@ (A IRF/ABTS T/
@RI FLF) 1

(h) ____ (Sales tax/Value added tax/Income tax) is an example of direct tax. 1

(R 9/ TTS I9/IA) T G0 doPF (I Sraet
(i) In a situation of ‘deficit-financing’ the government
rates/decreases tax rates).

qrofe I TR (@5 g/ @ /2 T FQ)!
(1) To curb import government may
increase export duty).

(prints notes/increases tax
1

_____ (increase import duty/reduce import duty/
1
ST SR G TR (o % /o v% go/Ae ¥ @)
FACS AT
P.T.O.
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(2)
: 2x15=3
2. Answer any fifteen questions @ 0

@ @ AR &rad TEg wis ¢

(a) Show that average revenue of an

good produced by it.
mm,mmm@%ﬁ%ew@emmmmwm.

(b) Give two examples of a firm’s fixed cost of production.
TG 37 Beove g it Twad e

(c) Prove that marginal revenue of a firm equals zero
demand is unity.

ot 5 IR I afoereTd W 1 T wiok e oS I

(d) Define oligopoly.
wfeTeoi=ife eI e wie |

(¢) What is shut-down point in a perfectly competitive market?
o) efecafrergee qrara Sesme acaa-fg 62

(f) State any two characteristics of monopoly. 2
GFCEHA FRRAEI @ @A 7o L8y Srggd St

(g) What is economic rent? 2
RRIGISEIN SRR (60 (G

(h) What do you understand by differential rent? 2
AfFreite e s F @

(i) Distinguish between gross-profit and net-profit. 2
o YA® G2 N6 JAFL T AL (=T

(5) What do you mean by national income? 2
Trolm oY AT N & @IRn?

(k) State two disadvantages of barter system. 2
-y 22 9ft eejfaae s S e

(I) Why is the central bank called ‘Lender of last resort’ for the commercial banks? 2
FaR RIS AMAEHF TP o AT AT wret I =7 (@92

(m)Mention two differences between the activities of the central bank and commercial

y firm is always equal to the market price of the
2

2

if the value of price elasticity of
2

banks. p
@A T G2 AT P IEFEE 6 N Sz Tt

(n) State two disadvantages of indirect tax. 2
AT IR 90 TERYT FA S I

(0) What do you understand by cost-push inflation? 2

I3 Jawite qurefs Ifwe & @
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(p) Mention two fiscal measures in controlling inflation.
TUPAIS AN G ES Jfo afo S I
(q) Mention two differences between internal trade and international trade. 2

SroEa ey e areses Jfied Ny o AL T

(r) State two arguments in favour of protecting infant industries in the context of

international trade. 2

areEifes A siftefs fie fgefm gewm o 9 3fE e

. Answer any eight questions : (¥ (FITH 5l evyw Ted whe: 5x8=40

(a) Explain the shape of the total cost (TC) curve of a firm in short run. 5
G IR FHAN (B 7 (TC) @I AFFS I T

(b) Write the features of perfectly competitive market. 3
53 afsraferEe e W&l @t

(c) Explain the concept of equilibrium in monopoly. 5
GIHHA FEIET SIRANCHA QRN Y FCAT

(d) Discuss how the rate of wage is determined by marginal productivity of labour. 5

R Aife SesmaReTe! 7d P Ve TR LIS 27 ©f aneEmsa e

(¢) What, according to Keynes, are the three motives for holding money? Explain your

answer in brief. 5
@IACTE W T 9 e A FoalG St & 152 F1eeswest g veam

(f) Explain, with a diagram, the concept of circular flow of income. 5
A JEEICed KRG @ Brag A Jrat I

(g) Discuss the various problems of measurement of national income. 5
wrer oy ~ifaiets fRfes TEmefe anemsar s

(h) Discuss the main functions of commercial banks. S
Jfifere TrePelm & Foel ad st

(i) Explain with examples the concepts of current account and capital account in a
budget. 5

B Heifo A6 G2 LA ATeF (el GfS SwizgerTz Iyt Tt |

() Analyse the Comparative-Advantage theory of Ricardo as a basis for International
Trade. 3

TreEifes e fofe fomm e grmre o wgib Ruga st
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Pre-Degree Examination, 2024
Painting (Elective)

Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin
I. Answer any four of the following : (@ ¥t 5136 2vea Tea wie :
(a) Name a mud huse with relif in ashram area.

e vera e s 3o« wifba afee A @

(b) Which Mughal emperor’s reign can be traced as the beginning of Mughal court
painting?

4x2=8

T4 wedtfa oo 3o @ 9@ AIGNGa AT (AF &F TAE?

(c) Who is the artist of the mural “Natir Puja” and where is this mural located?

FoR TSl w17 #fe € @ waEe?

(d) Name the mural by Binodbehari Mukherjee, that is located in the China-Bhavana.
fortt Sat wrafzs farmifaa® raenas fSaeia T Sme 34

(e) What is the medium of the sculpture “Santhal Family”.
Agor R sredba magm

(f) Who is the artist of Kala-Bhavana canteen mural and what is the medium of this
mural?

FereIA oA fSaem Ml & ¢ «2 fSane agw F?
2. Answer any three of the following : @ It foaf6 ar=z Tex wie . 3x8=24

(a) How many cave architectures are there in Ajanta? Which religion patronized these
caves? Give an account on the subject variation and features of decorative panels of
Ajanta murals. 1+1+6=8
TERE (N6 FoeE @ FAG WR? (@1« Y Gwer o7 i promee sEze?
qEeR T et fawa v ¢ & T @

(b) Discuss on the subject and composition format of “Koler Banshi” by Ramkinkar Baij.
Can this sculpture be called environmental sculpture? 6+2=8

ANMEET QST FEE A0 SFEE @ ¢ v [y T QT 91 @3 oredie
sAfaraere orEd q=n w2

(c) Where is the fresco “Bodhisatra Padmapani” situated? Discuss about this fresco.
QfeTg e @rEl @R 93%e? GFEf T4 aEna 341

(d) Where is “Medival Saints” by Binodbehari Mukherjee located? Discuss on the
composition and subject matter of this mural. 14+3+4=8
Reamfad TR “TaRAR Y TR e @n a3fEe? 3 e aoa [{ue
¢ fagg 7= | F0

8

P.T.O.
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(¢)Write short note (any two) :

B3l @ (@ [ 7o)

(i) Portrait Painting by Rabindranath Tagore
2w HFTER Wit AfePlS |

(ii) Sujata (Ramkinkar Baij)
et (ANfEES ([29)

(ili) Halakarshan (Nandalal Bosh)
2N (T )

(iv)Chaity at Pathabhan area
AIOSIT TSR Lof©
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Pre-Degree Examination, 2024

Political Science (Elective)

Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

Group - A ([@®rt - %)
1. Choose the correct answer from the alternatives.

e Teafd fdivs w31
(a) Right to leisure is a (Economic / Social / Political) concept.
APER A 79 @3fb (@fafes /Amifes /amiafes) aeem

(b) The book ‘The communist Manifesto’ is written by (Marx / Engels / Marx and Engels).
“The communist Manifesto’ =353 I5Rrel 2w (WH/awrery / K 8 aurer) |

(¢) The father of liberalism is (John Locke / J.S. Mill / John Rawls).
TRAINSAIE THF 20 (TR &9 /(.97 /o 7o) 1

(d) The number of judges of the International Court of Justice is (9/10/15).
resifes e [orafen e (5/50/5¢) 1

(e) The United Nations Organization was established in the year (1944 / 1945 / 1946).
Sfafere wfoon ofefe 2 (3588/558¢/558Y) |

(f) Money Bill is first introduced in the (Lok Sabha / Rajya Sabha / Bidhan Parishad).
g4fFe g2w e =7 (EsTer /Ao /M «fwam) |

(g) The Governor is appointed by the (Prime Minister /President / Vice President)
A T 29 (AaTal/geifs /Somanfe) @

(h) The age of retirement of the judges of a High Court is (60 / 62 / 65) years.
FBENEI oAoma a9 qTET ITT 2 (Yo /uR/ue) |

(i) The Mayor of Kolkata Municipal Corporation is elected for (5 / 6/ 4) years.
FeeTe! e srfiteie e [Fifte 27 (¢/v/8) I=0EF &1

(j) What is the name of the upper House of Union Legislature in India (Loksabha / Rajyasabha /
Senate)

TSR (AN WIS THITHF TN (FFS! /IS / GTAB) 1

1%10=10

Group-B (e - )
2. Answer the following questions in a single word (any ten)

T Ava oyefera e we 1 (@ @I 7o)
(a) Mention one method of acquiring citizenship.

qofaeel qEEE 936 @l S T
(b) Mention any one source of Marxism.

TRERIME @ @A G 5 T I
(¢) Who is called the father of Fascism?

FHERTTE TS IS I 72

(d) With which doctrine is the principle of ‘Negation of Negation® intimately associated?
@ AGLATSP SLGH A ARProd TANPRS’ Ao SHATTOIA HES?

(e) How many members can a member state send to the General Assembly?

Ay 7o Afeld TrraR seay dfeffy Ans Aa?

1X10=10

P.T.O
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(2}

() How many members are there in the Economic and Social Council (ECOSOC) of United
Nations at present?

z@mwﬁ%@mﬁo‘m&awﬁﬂmewﬁwmmmmmm?
(2) What is the name of the upper Chamber of the U.S.A. Congress?
SRR TEAE AT THCF AN 2
(h) Who is the leader of the state legislature?
AT WARTSR (TS (F?
(i) Who presides over the meetings of the Gram Panchayat?
AT AT Ho (& Folofog IT?
(j) Mention one necessity of the independence of the judiciary.
Rorfreit MRATR GIH ATl SE FI
(k) What is the full form of SAARC?
SAARC % 7tat 32fs b7
(1) State any one qualification of the judges of the High Court.
PN Romeifoma @ @R @b @ere! TE I

Group—-C (@1 - %)
. Briefly answer any ten of the following questions.
s @ @i it et ifeg Teg men
(a) What is the full form of UNESCO and WHO?
UNESCO @32 WHO «% [tal 35 17
(b) How is Secretary General of UNO elected?
UNOR T2 Frei oS 272
(c) Write down any two economic rights.

@ @ 4t afiafes afwsim @

(d) Mention two features of ‘Fascism’.

FRme vt e SE 9

(e) What percentage of seats are reserved at present for women in the Panchayat System in West

2x10=20

Bengal?

IS APCIIC ABITS JIZ WA T TS [l AP SLafrs 0g?
() What is Ward Committee?

ST IAB 1?2
(g) What do you mean by Judicial Review?

ey Himal e J Q@

(h) Write down the procedure of removal of the President of India from his Office?
SATST AEATSE PO O AW (ATF A 41 T2

(i) What do you mean by ‘Discretionary Powers’ of the Governor?
AGATTR TR FTS! IS F QA2
() Mention any two basic principles of Marxism.

TFRME @ @I 76 Gl fea B o9
(k) What is Gram Samsad?

&I A 72
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(3
() Whatis *Veto™
‘ST 2

Group -D et - 9)

4. Answer any five questions. 8x5=40

@ I A6 ora Tew we)
(8) What do you mean by ‘citizen"? Write down any two similarities between citizen and alien.
What are the causes of abolition of the citizenship? 1+2+5=8

AR TS D @R TAREE e FeEd T @ @ g A @14 Feifawer fefaa
TR I I

(b) Discuss the composition and functions of the Security Council of U.N.O.
Afafere efesrem et Afaam@ 197 ¢ I AAEs F9 1

(c) What is Liberalism? Discuss the basic features of Liberalism.
TrIEHIfeAm F? TRASAT A (AErefe SeEna F1

(d) What do you mean by bicameral Legislature? Give two examples. State the arguments for
and against the bicameral Legislature. 242+2+2=8

faem 2 @iZTel e B @R 45 Tarad wie 1 e RfE wrzrer v 9 [eTE
e wrs

3+5=8

2+6=8

(e) Discuss the composition and functions of the Supreme Court of India. 2+6=8
SIS FHfAT (I 107 @ IR JCAGA 9
2+6=8

(f) What is foreign policy? What are the basic features of Indian foreign policy?
Lt A ? srares [oet ez 1= wfEel 2

() Define political Party. State the names of two national and regional political parties of India.
Discuss the main features of Indian Political Party System. 2+2+4=8

ARATSS W e WIS | SRTSA G5 T (3R Aered qGiAed Weerd A (&7 1 SIS
IEAFSS WAl IR T LByl QD $9
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Pre-Degree Examination, 2024
Geography (Elective)
Time : 3 Hours Full Marks : 60

Questions are of value as indicated in the margin
Draw diagrams / maps wherever necessary.

ArreTs foa / WAfba e |
Group - A (Re19-3)
Physical Geography (2I$fo® gUoiie)

1. Answer the following questions : 1x12=12
iR erefem Ber we :
(a) Which type of drainage pattern is formed in dome-shaped hills?
TIPS AT (I (@R Ao et 32 272
(b) Which landform is known as “Basket of Eggs Topography”?
(c) The delta of Mississippi looks like

s a7 3-89t orars @3 TS |
(d) The gap between mountain wall and glacier is called
AR ¢ enitas TRE wehE T =

(¢e) Which instrument is used to measure the air pressure?
TR BI9f AR (@I I ARV I 272
(f) What is the meaning of the word of the local wind ‘chinook’
FAE Iy o *mbe 9 52
(g) Cliff/sea beach/off shoes bar is formed due to the erosional works of sea waves.

$0/CTTogN /TR I TIMSACHE FIIIEA T 10
(h) Meaning of the word Loess is
‘@ AT 9 ==\ |

(i) Bajada is formed due to wind/river/glacier action.
e Afde 27 g/An/RARI FIRE FE)

(5) The wind blowing from subtropical high pressure to sub-polar low pressure belt is known
as (i) Westerlies (ii) Trade wind (iii) Polar wind

TR THHIA W (AT (FYS AOHR [ TR e eRifzs ag@ A (i) <feweg
(ii) ST (iii) (VAR

(k) Write the name of the largest lagoon of India.

SIACSA I8N BAZWA TN (@Y |
(1) How many air pressure belts are there in the world?
fdite T IHIA I WCR?
2. (a) Show the differences between the followings (any one): 3x1=3

NP (TS (A I 93f):
(i) Sea Breeze and Land Breeze J3&d1y 8 FeAY

P.T.O.
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(2)

3 a ﬁﬂ]*ﬁSlé | 47
(i) Constructive and Destructive Waves. IR €

(b) Give Geographical reasons (any one): 3x1=3
e 31ed wie (@ @ 930):
(i)  The salinity of the Black Sea is quiet low.
FRATIR FITS! TAB I |
(ii) The height of the snowline is variable.
fzutaar Bwer sAfaasTae
- Answer the following questions (any two): 6x2=12
fafefie anefm Sea e (@ @ 7B):

(a) How the temperature of Ocean Water is controlled by latitude, depth of ocean water and
ocean current?

TGS Sloal fFern wwie, sroie! 8 FYHEed a4 Fafge 232
(b) Write about ‘U’ shaped valley, Pyramid peak and hanging valley.

‘U arpfe Seter, PrIRS por 932 3710 Borer TootE (14|
(c) Write in short on Trade wind and Westerlies.

ARG 8 AFBIRY FCF ATHFA @121
(d) Write down about Waterfall, Pot-hole and Canyon

TEALATS, TZFA @ FIIA FHCF @121
Group— B ([®17-3)
Economic and Human Geography (@I{tifss @ T )]
- Answer the following questions : 1x12=12
frafafie erefag Seg we -
(a) Grapes/Neem / Orange doesnot grow in Mediterranean forest.

IR /T /ST SHGAR W60 SR Al

(b) Grandbank is located in Ocean.
QUL TR S_(ES |

(c) Example of a Pelagic fish is .
a6 e T=a Swrzad =z l

(d) What is the term used for shifting cultivation in North-east India?
(e) Which industry is called the ‘foot loose’ industry

Chemical (iii) Cotton textile

@ e Pee @ fig e () @etre (i) COTBRAARA (iii) S1+fo1 974
(f) Sledge’ is used by (i) Pygmy (ii) Bantu (iii) Eskimo

GEIRAIE (i) PR (i) w0 (i) afemm

(i) Iron and steel (ii) Petro
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3)

(g) ____iscalled the land of fishermen’.
3 USRI or 96 =
(h) In India, the Central Rice Research Institute is situated in
SIS (AW 4N RN @] @ w3fEs |
(i) Chewing gum is produced from which tree?
R (@1 AR (A oA 2A?
(J) Which Industry is called fundamental of all Industries?
1 g et Mg g <o 232
(k) Which insects damage cotton cultivation?
T BIR @ (AT FfS IR?

() ‘Semang’ inhabitates in peninsula.
‘CTNe TofRIce AT FCA |
. Write short notes on (any two): 3x2=6
e Bt @12 (@ @1 9f):

(@) Man land ratio ~ WITE-EF TS

(b) Industrial region of Ukraine ~ 2St& [REIRE

(c) Pygmy forarsht

(d) Extensive Agriculture I Tﬁ

. Answer the following questions (any two): 6x2=12
e axeln Sea we (@ @19 i) :

(a) Discuss about the production and distribution of wheat of any three important wheat
producing countries of the world.

AR AT ol argelf o BT (O TR @R B TN AT 1
(b) Discuss the reasons behind the agglomeration of Cotton Textile Industries in Western India.

S5y SrTe ATddIed oot T Fgtemefa ISR FIRASE s I

(c) Discuss about the favourable conditions for the development of commercial fishing grounds
in the temperate region.

Ao TeE TS T AZFY CFAQf oG IR TFa TG ATEHA F4 1
(d) Describe the livelihood patterns of the inhabitants of the Tundra region.

TE! ST SEAINE ST A TAE I 91
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Pre-Degree Examination, 2024
Statistics (Elective)

Time : 3 Hours Full Marks : 60

Questions are of value as indicated in the margin

Question No.1 and 2 are compulsory and answer any three from the rest.

Answer any twelve questions : 1x12=12

(M

(i)

(iii)

(@iv)

)

(vi)
(vii)
(viii)

(ix)

6y

(xi)

(xii)

_1 A/ N9
If P(A/B) =, then P( é)_.

i 3
— (b) — 1 (d) 0
(3)4()4(0) (d)

If P(A/B)=P(A) and P(B/A)=P(B) then what type of events are A and B?

(a) Independent Events (b) Complementary Events (c) Certain Events
(d) Impossible Events

For the probability distribution of a discrete random variable X. E(X) =5, E(X*)=35.
What will be the variance of this distribution?

(a) 40 (b) 30 (c) 20 (d) 10
Which of the following are mean and variance of standard normal distribution?

(a) Mean = 0, Variance = 1 (b) Mean = 1, Variance =0 (¢) Mean =0, Variance =0
(d) Mean = 1, Variance =1

What is the area under the normal curve to the left hand side of the perpendicular line p.?
(a) 00 (b) 0.5 (c) 01 (d)-0.5

If two unbiased coins are tossed, then find the probability of getting one head and one
tail.

A number is selected from the natural numbers 1 to 100. Find the probability of the event
that the selected number is a multiple of 3.

If T is an unbiased estimator of 0 then \ﬁ‘- is an unbiased estimator of \/5 .
(True or False?)

What is the total number of sample points in the sample space formed by throwing three
six-faced dice simultaneously?

(@)6 (b) 3° (c) 6x3 (d) 6’

The parameter of binomial distribution of a random variable X are n=4 and p = 1 . Find
the value of P(X =4)
The error that occurs by rejecting null hypothesis when it is actually true is called,

(a) Size of atest (b) Power of atest (c) Type | Error (d) Type Il Error.

Of the following sampling methods, which one is a probability sampling method?
(a) Judgement (b) Quota (c) Simple Random Sampling (d) Convenience

]
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(xiii)

(xiv)

(2)

Increasing the sample size has the following effect upon the sampling error.

(a) It increases the sampling error. (b) It reduces the sampling error
(c) It has no effect on the sampling error (d) all the above

Sample is regarded as a subset of?

(a) Data (b) Set (c) Distribution (d) Population

(xv)  The probability distribution of a statistic is known as :

2. Answer any six of the following questions :

()

(i)
(iii)
(iv)

V)
(vi)
(vii)
(viii)
3. (1)
(i)

(iii)

4. ()
(i)
(iii)

5. (1)

(i)

(a) Poisson distribution (b) Normal Distribution (c) Sampling Distribution
(d) Binomial Distribution

2x6=12
Define sample space with example.

State two advantages of sampling over complete enumeration.
Define a biased estimator.

A sample of size 10 has been taken from a population with population proportion 0.5 in
SRSWR. Find the standard error of sample proportion.

If X follows Bin(10,p) and P(X=5)=2P(X=4) then find P(X>0)
IF X follows N(30,5%) then find out P(X>30)
If X follows P(2) then find P(X>0)

What is a critical region related to testing of hypothesis?

Write down the classical definition of probability and its limitations.
If the letters of the word INDEPENDENT are arranged at random, what is the probability
that a) N’s appear together b) N’s appear together and D’s appear together?

5 cards are drawn successively from a well-shuffled pack of 52 cards with replacement.

Determine the probability that (a) all the five cards will be spades. (b) only 3 cards will be
spades. (c) none of the cards is a spade.

3+4+5

3+4+5
Define simple and composite hypotheses with examples.
If and P(A®)=0.7, P(B)=0.7 and P(B/A) = 0.5, then find P(A/B).

A speaks truth in 75% of the cases, while B in 90% of cases. In what percent of cases are

they likely to contradict each other in stating the same fact? 3+4+5

If a random variable X follows binomial distribution with mean 2 and

E(X?) = 358- find P(X #0)

The random variable X has a probability distribution P(X) of the following form, where
‘k’ is some number.

k if x=0
2k if x=1
P —4 =
X=0=13t ¥ x=2
0 otherwise

Determine the value of k and obtain V(X)
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(iii)  Find the mean and mode of poisson distribution with parameter A. 3+3+3+3

() HX~N (u,oz) then obtain central moments of even orders and hence find p; and pa.
(i) The wage distribution of workers in a factory is normal with mean Rs. 400 and s.d Rs. 50.

If the wages of 80 workers be less than Rs 350 what is the total number of workers in the
factory?

1
. | A
Given that e 2dt = 0.34}
[ j‘o v

27

(iii) If the variances of independent and unbiased estimators Ty, T, T3 of 0 are in the ratio 2:3:5
which of the following estimators of 6 would you prefer most?

QT + Ty + T3) /4, (T\+T,+2Ts)/4. (T 2T+ T)/4 4+4+4

Write short notes on any three : 3x4=12
(1) Mutually exclusive events.

(i)  SRSWR

(iii)  Level of significance.

(iv)  Joint distribution of two random variables.

(v)  “Test Statistic’ in the context of testing of hypothesis.
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Pre-Degree Examination, 2024

Hindi (Core)
Time : 3 Hours Full Marks : 80
Questions are of value as indicated in the margin
@us - ‘&P
%) FafaRaa ot & sw fafau 1x33=33

1. ‘ST Te2 W Yo 3T 3168 T i |

2. YE I8 § UG 3T 3155 3T I |

3. UM II5q § T AT i |

4. “9fd Iu@t & UGN ¥ Tk 797 3158 S |

5. AT oI % ANT Y Teh AT Y158 oA |

6. ‘ITATE’ T162 W ITHT qAT I168 T HIT |

7 ST e W -G HHE & 2

8. ‘firciieae reg ¥ Yreg QT TeiT 7T HIfVT |

9. %Hmﬁqﬁqzaﬂtwqaéﬁﬁa%ﬁwﬁt%ﬁwwmﬁagaﬁlmmém%?
10. “qeE o TITRR HT T AT 8 2

11. “SHHUTE gaTE° 1 T a8 feaRau |

12. <R I9a & FNT & Teh 7 964 TS |

13, *3TTa T o AT W Teh 7 116G A1 |

14, s’ Teg § HH-GT GHE § 2

15. S gl T - F T Y17 1 Afoach 37 FATR 2
16. “gfeaiter ft &1 g A fafee |

17. SISTH’ 1< & TR i 8 2

18. o TaTg § ST 9e TeH &, 30 SR8 HEE FEd 8 ?
19. “GrATTC o TeRTeRT 1 A fafae |

20. “GeF-gerT 3 THAHL HH T 2

21, T T U< &1 famrg hifsre qen g A fafay
22, SRV THTE T T e ST |

23. ‘ga-sfar wsa H A 7 2

24, $11-39 A Ie91 Tier =l form e @ IO ST EeRAT © 2
25. forema i aeft F oft 3 e feraehl Tt off 2

26. gfrre ga i Tt o ton s am ferfa

P.T.O.
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(2)

27. I T oft 2
28. ‘W,mmw,wa@qaﬁél’aadﬁﬁmméﬁﬁ%?
29. wRIfTer foe g e I ?
30. g Bt e <t gra i g e 8 At
31. ot & oft 2
32. T ¥eh Shfel ot A1 ford, fSras T & 3191 SHTed /iAT 2
33. sreraTer § Ry aret el wsh sy 31 3weh) T T A ford |
Qus - '@
@) Frafafaa gait & s forRau 2x13=26
1. oo ST gera s 7o forment are § wE i |
2. <3 vmE AT TETe w31 et AR 7 s shif
3. <<ht T HIF TR TRIh B AT H T R |
4. o e # 3ad o ot o afafifre war g 2
5. forerdt freen <t @t foriwad ford |
6. N 3 E T UL, T o W Y — e F SEer 3N T F forueht 31 dohd foRaT
TR ?
7 9T A S AT 2 FRIE I AT H FART I |
8. ‘U U QI hTer WAlehITeh ohT 37 forard gU AT # Wit <Hifer |
9. & FHiddr S EAFER HTRTAH S ?
10. HAAT - - - - - - a1 | 39 dfh 5 ook T 9 i |
11. 37T fa@mr Herat 1 31ef fefgsht -3 =i |
12. Tl WTd: 9 3T 1 0 & Hardl | I8 i R ure & o eft ® v sess wliar e g
13. feseant Sfia gfelt o, HiTet e AR S&d dieha fore i & 3qud € 2
14. 37195 fereer i A § T o ATHT Y TUrr 3R ATE-TTHRTS” i 3 Ty 7a1 2 |
S TYHTER/SHETE! 3t 3fad Teie & fofe 3tae o ferfigw | 2x3=6
&) Ieh T T JH 9T foAfay |

@) Ith 9 1 7eg 97T forfa |
TT) 36 T T I 7T feAfaa |
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@og - ‘T

) FreferRaa wal § & fenedf oig wart & I AT 3x5=15
1. WRAg Bl 3 e T It 3 7 FHROT I STEE HAT & 2 T AT E 3 H1it bl T
wfern g 2

2. “3Td % TR oI WTEH |
2 srrer S, - P v Ay A 1 - Sk it A T T AT
3. e e I ST e e T st e @ A ?
4. ‘ETE HYHA < GAI |
STel-ug e S faafert i frerdr w1 - Freeh ifRhelt <l T St I |
5. fomma = AfE-fFaEw i |
6. Tgi et O AT,
Sl HIUST, gE A §W
T ], WaT IS |” — Iuih wfha i T SAredT hife |
7. qerdieE St 1 G e utterE i |
8. fiar it yafer & o= & T T B EHA & ?
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Pre-Degree Examination, 2024
Library Science (Vocational)

Time : 2 Hours Full Marks : 32
Questions are of value as indicated in the margin
1. Answer any one question : (X (¥ a6 a7 Ted WS | 1x10=10
(a) Who was S.R. Ranganathan? What are the five laws of Library Science? Describe in
brief either 2" law or 4™ law of Library Science. 1+5+4=10
O, W9, TALE (@ Terem? agee e Aewme & fer ageim fee 7ol
QRN 5gd @i’ FTHA I I |

(b) What is a catalogue in Library? Why catalogue is necessary in a Library?
Differentiate Publisher’s catalogue and Library catalogue. Draw a catalogue card and
mention the salient features of a catalogue card. 2+2+2+4=10

AR AgeilEel 7 G Aol 4@ oW &7 dFMEd a7
ageie AN F? 93 catalogue card T%7 I3 O ¥ fagefa S 3@

(¢) Who was composed the essay ‘Library’? Name the other essay on Library written by
him? Discuss briefly Tagore’s idea on Library in the light of the essays written by

him. 1+1+8=10
R AIFDA IS (7 AN T9CF G0 @NFF G 370 TN 52 ©f7

@ AF T AENE O AN Ok A «fap wie

2. Write short notes on (any two) : 3%t 1R (@ @F wfo)

2x3=6
(a) Decimal Classification (I3 3512 (b) School Library (Rmiter agiaiz)
(c) Mobile Library (SMU9 &F144) (d) Library Rules (211 fasizan)
() Dictionary (®ff4iq)
3. Underline the right answer of each question. 1x10=10

ATOT STHF T TEABR s Mot Wis |
(1) One famous classification scheme is DDC/CC
a%fe e IHead =S == - DDC/CC

(ii) Rabindra Bhavan Library of Visva-Bharati is a — Special Library / Public Library.
frgore sme oo 93 : Rew azeiw / o a9

(1) “Save the time of the reader” — Which law of Library Science? 4" Law / 5™ Law.
G Y IO - «ft R IR @H @2 v / stwew

(iv) Connemera Public Library is situated in: Mumbai / Chennai.

RIGLE B 43R RS : T918 / GRR |

P.T.O.
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(v) Asiatic Society was established in the year: 1784/ 1796.
afrmfoe cmiE afede =1 - 1784 /1796 AT

(vi) Rabindranath Tagore composed the essay — ‘Library” / ‘Librarian’.
AR $FF ‘Ao [/ ‘aeNEE e[eEd qoe! |
(vii) Indian National Bibliography is published from — National Library Kolkata / Delhi

Public Library.
THCeT GO SFAR defe 2W - wrew agelE, Iawrel/ @l ww ageE, e
& @

(viii) Books are issued from — Technical section / Circular section.
AT oM T - e Ko / swe amie e

(ix) Delivery of Books Act was framed in India in the year: 1954 / 1964.
ABF AW 2D SIFOIR IO A B =4 - 1954/ 1964

(x) The first librarian of Visva-Bharati Library was Prabhat Kumar Mukhopadhyaya /
Bimal Kumar Dutta.

frgeie! ageliEd 4N GRS frem- adte R A/ FI w61
4. Write full form of the following Abbreviations. (any six)
Siva Afreastelm Jd@et @2 (@ @F =)

() IASLIC (i) NISCAIR (iii) OPAC (iv)ISSN (v) BLA (vi) BNB
(vii) DELNET (viii) ILA (ix) DDC (x) RRRLF

1x6=6
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Pre-Degree Examination, 2024
Food & Nutrition (Elective)

Time : 3 Hours Full Marks : 60
Questions are of value as indicated in the margin
e - 3
1 73T Bur Rdmw 9 (@ @At +icf): Sx@=
(¥) fifFsfaq a3l
(a) oraeem (b) freREs (¢) Tewpe (d) @M T
(/) w7 5@ g =7

(@) IF (b) THW (c) TJro (d) WSHF

() TEFOR IGIAFT AT T ATAGAT SAWIA 2 —
(a) JEBAN (b) THTAA () @™ (d) e
(}) I WENHT TOE TRTIHA @It 742
(@) FIF (b) ITTA (c) WigaE (d) 3
() T fooifim 3o asfe amy 7=
@ E ) B (o) s (@) #
(®) foona cift =7 -
(a) WELAN (b) WFID (c) TNHPRN (d) HAEHT SeIq |
(R) SOIRA! WIS (AF I FF (NH,) SoPifae 26IM0F I
(a) G WIREME (b) TamEeem (¢) TFfFEm (d) a) 932 b)
Q1 BT A QA S 7 I : (A @A ATD): Sx@=G
(@) Pra cyooTR ~fFeFsa 936 TEHEd A |
() HCl wfze 27 13k R (AT 1
() NIN “IEFNE a1fFe |
(}) amERs @ fSofm Row @@t A ¢ T4 |
(¢) @b fad @i cafoq 7= |

(5) coteaT A O |
(®) AT PO (BT AEE BRI

o1 79 IRFPIR Fej/aTe) Mo I (T @1 #A) YX@=G
(@) @ FMT7 93 TogE AW T el G4
(/) a7 @FH TREBF AT Al
(o) SrfEs ATI AE
(}) prs 9 i arcmm g
(e) ¢leo e el g& AW e v |
(5) R TH QAN TSRS @191
(®) @rAtE @bar T @I AaEEe =10

8 1 ffrfie emef «fo Q3T T wis (@ @ i) : IxG=¢
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(2)
(@) % (B AR SLETHIFF AW AT
(?) 312y f37
() @@l A TS W FOTA S GIFEOIT ACF?
(@) fen3fos wfes 2
(8) FRMSTETR @R A4 FRD T
(5) 1CDS @7 /=i = {2
(2) TroW fE oy FoTI o Tl e
fom - ?
¢ e emefm szewet Bea we (@ @ 7ifD) 3x30=0
() freaem uft a1 @12
(}) TR FN2
() ARCIEIHOR el MG 1 (AT 2?2
(}) ol &y Al B PR e
(¢) fobIfTm D-uz @R & & @t =2
(5) CRIRBER ARk SR TOIE S I
(8 WHO &3 3/ 1% f$? WHO - &9 3 W (FIR?
(=) feife &2
() PUFA <I? Twuizgd mis|
() SHARATCHRINCGT BRMG FE G
(B) ISR BIEAMG T T
(3) AR ATEATS! (A |
(T) @ SLEIHET AL ¢ I’ (@9ife 237
(v) ey Bl aefoa STy o S @ @ 7o E7 S St

et - o
o] Frffe epefm st Tea wis (g el ) : 8x@=R0
(F) TFROIR IRZ0ES ARART ~1afs 3 74 e
SRR
T @ficed TR Aol RPI AT (GTe ¢
(@) srSRER =ff2e vifea e drEctel SEd I ¢
SEE|
GFE AR T T A THE A I ¢
(1) Proa @offEq FRASlE I I ¢
G
oift firsra eaEATel St T G99 SAMAET THCH A A G0 +0=¢
@) T @R IR R @2 @R TR @ @ @l @1 SemE T AW
wiqa sfasmd e =232 Y +9+d=C
CEEl
ANP e <} @A TSR G @R SPEH Al IR @] A9H AW
1A GF TW? Qed4d=C
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Pre-Degree Examination, 2024
Food & Nutrition (Elective)

Time : 3 Hours Full Marks : 60
Questions are of value as indicated in the margin
Group - A
1. Choose the appropriate given and complete the sentences (any five) : 1x5=5

(a)

(b)

Bilirubin is a

1) bile salt ii) bile pigment iii) enzyme iv) none of these
Ornithine cycle takes place in

i) Kidney ii) Pancreas iii) Liver iv) Brain

¢c) During anemia, necessary element required for formation of blood cells is
1) calcium ii) phosphorous iii) iron iv) iodine
(d) Which hormonal deficiency is related to diabetes mellitus?
1) Glucagon ii) Insulin iii) Adrenalin iv) Thyroxin
(e) A highvitamin rich food is
1) Suji ii) Sugar iii) Mixed Vegetable iv) Roti
() Tetany occurs due to lack of
- 1) Calcium ii) Magnesium iii) Iron 1iv) [odine
(g) The replacement of amino group (-NH,) from an amino acid is called as
i) transamination ii) deamination iii) decarboxylation iv) both i) and ii)
2. Fill in the blanks with appropriate words/terms (any five) : 1x5=5
(a) Enzyme required for digestion of boiled starch is
(b) HClis secreted from cell of the stomach
(c) The research centre, National Institute of Nutrition (NIN) is situated in
(d) The vitamin present in highest amount in amla is
() One of the examples of second class protein is
(f) Pellagra is caused by the deficiency of
(g) Bactria causes Peptic Ulcer.
3. Mention true or false in full sentence of the following (any five) : 1x5=5
(@) An ideal diet of constipation is cold milk.
(b) No digestive enzyme is present in bile juice.
(c) Ptyalin is present in gastric juice.
(d) Influenza is a long-lasting flu.
(e) Purine rich food should be taken in rheumatoid arthritis.
(f) Lack of iodine in the diet is a primary cause of goiter.
(g) Rhodopsin is formed within the rod cells of the retina.
4. Answer the following questions in one sentence (any five) : 1x5=5
(a) Write names of two protein-digestive enzyme.
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(b) Whatis Chyme?

(¢) How many ficld assistants are required in a Diet survey Team?
(d) What is hemolytic jaundice?

(e) What is the chief cause of kwashiorkor?

(f) Name the full form of ICDS.

(g) Write two problems in implementing various National Nutritional Programme.

Group-B

5. Answer the following questions (any ten) : 2x10=20
(a) Write two functions of bile juice.
(b) What is ‘Balahaar’?
(¢) Define glycolysis. Where does it take place?
(d) Write down the four reasons for obesity.
(e) Name the disease(s) which is/are caused by vitamin D deficiency.
(f) Write four associated problems of Diabetes Mellitus.

(g) What is the full form of WHO? Where is its headquarter situated?
(h) What is ketosis?

(1) What is PUFA? Give examples.

(J) Write four causes of atherosclerosis.

(k) Write four problems faced during pregnancy.
(I) Write the necessities of a diet.

(m) Lack of which enzyme causes about.

(n) Mention two important issues to be taken care of during preparation of school-tiffin.

Group - C
6. Answer the following questions (any four) : 5x4=20
(a) Describe the process of carbohydrate digestion in human. 5
Or
B-oxidation of fatty acid. 5
(b) Write down the causes for increased nutritional demand during pregnancy. 5
Or
Discuss about the balance diet of a lactating mother.
(c) Discuss the various causes of mal-nutrition during childhood. 2+3=5
Or
Why Nutrition Education is necessary? Discuss various factors of Nutrition
Education
(d) What is the reason behind tuberculosis? Write down the symptoms of this disease.
Which nutrient rich food is to be given to tuberculosis patient? 1+2+1+1=5
Or

Write down the objectives of applied Nutrition Programme (ANP. Who are the
beneficiaries of this programme? Where was this programme started first? 3+1+1=5
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Pre-Degree Examination, 2024

Elements of Computer Science (Vocational)

Time : 2 Hours

Full Marks : 32

Questions are of value as indicated in the margin

1. State “True’ or ‘False’ for the following statements. (any six) 6x1=6

i)  The Octal number system uses digit from 0to7.
ii) Conio.exe is a header file in ‘C’ language.

ii1) Secondary memory is ‘ROM’

iv) ‘NOR’ Gate is a universal gate.

v) RAM is a volatile memory.

vi) Operating System is a application Software.

vii) Mouse is an Input system device.

viii) In C programming ‘%’ is the modulo division operator.

2. Answer in short the following questions (any six) :

i)  What is ISP?

ii) Find out 1’s complement of (10110101),.
iil) What is WWW?

iv) Give an example of System Software.

v) Why NAND gate is an universal gate?
vi) What is High level language?

vii) What do you mean by Primary Memory?

viii) Give two examples of secondary memory.

3. Write the difference between the term (any three) :

(i) Star and Ring topology.
(i) ROM and HDD.

(iii) Input and Output.

(iv) MAN and WAN.

(v) Compiler and Interpreter.

4. Solve the following : (any three)
(l) (567)3 - (?)16
Gi) (1101011), = (7)s
(iii) (4A2)16 > (M2
(iv) Add:(11011011), +(110110), + (101),

6x1=6

3x2=6

3x2=6

(v) Substrac using 1’s compliment method : (1101101); — (10110),

5. Answer the following (any two) :
(i) Draw a flowchart to find out ODD Number.

2x2=4

P.T.O.
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(ii) Write the adventage of Mesh Topology.
(iii) State and prove De-Morgan’s law.

iv) What is cache memory?
6. Programming Language (any one) : 1x4=4
(i) Write a C program to check the largest number between two numbers.

(ii) Write a C program to find the sum and average of five numbers.
(iii) Write a C program to find if the input number is positive or negative.
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Pre-Degree Examination, 2024

Tabla (Elective)

Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

@ @A 51 Atid Ted wie |

1 WG @12 ; (@ Il BiRD) 8 x X=br
@) FFw () IR () R (3) fo (8) Tel
31 TrSae afers o vy e O @2 (@ @I T) x8=Y
(3) Grel  (}) T (o) e (F) o6T
© | SISATe *Elore fHerE «afs srmE ufbt [eE ¢ foziR @4 8x=b
81 ST @ RN @Y ; (@ e 1) 3x 8=V
(F) TATTLIRRRT (V) (OSTULFRT () TP ATE () AFST (BToTe |
¢ Sree Aarere fqoiEd a3 FFel 8 bEid 11 3 x 8=b
b1 STeE “Fere fqold 8 (GTeltad braed (@14 3 x 8=br
q 1 TR @2 (@ @A aFEHCER) v
() ~ffes R = T
() i
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Pre-Degree Examination, 2024
Manipuri Dance (Elective)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

Y 72 oy SRR

31 AFFS Teq WS Y
(i) =R e 9 2
(i) 9 =T 52
(i) ‘@ Ho =wg 9 2
(iv) ez’ 2
(v) TR PEINS (@ A AT FRRE?

(vi) ‘e
A @ QA foqft arag T wis - Oxb=38
(i) IME T &FR ¢ & 57 oo oo SR AR ey JRze foft v
JMACER NI TR 61 v | Y=t
(i) @ @ @3 TR TEreR Keifas weEw w0 v
(iif) AR AT FRA (@G HCH (KBS AN T '
(iv) AR oo Terifen Bfor™ T 1 & @R
o1 9 @R (@ & 1) : 2
() FHE
(i) TR
(iii) “ICRR
(v) =
(v) e
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Pre-Degree Examination, 2024

History (Elective)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

Group—A (3-Rei)
. Answer any ten of the following questions in complete sentence : 1x10=10

xRS eelf o @ oo Wit eipa sy <icey Teg e

(a) Which town of the Harappan Civilization developed as a port?
23 ST (S X179 I A 1T 907

(b) Who deciphered the Asokan Inscription?
@ eiees PefEtR A swEe?

(c) What is “Tripitaka’?
fafs 2

(d) Who was the composer of ‘Allahabad Pillar Inscription’?
QeI 2R-F FvfeT & fereT?

(e) Write the name of a king who patronised Buddhism in Ancient, India.
_ SAD SRS (RGPl IWREH O I ST TN @7 |
(f) Who was the Sultan of Delhi when Timur invaded India?

(oYF-9F SRS AFNE A &R o & Rea?
(g) Who is known as ‘Parrot of India’?
SIS (SR’ FW (3 ififow?
(h) Who was the founder of Lodi Dynasty?
@ IR elfSvret & fRrem?
(i) Where was the capital of Vijayanagara Empire?
fRemerF Fgieess Al @I 2w
() Who built ‘Fatehpur Sikri’?
Freod P & i FE=?
(k) What is the importance of the year 17937
1793 010wy 12
() In which movement did Gurudev Rabindranath Tagore take part directly?
(P QTHAE SFWR NG T ATFOIR A A2 T2
(m) Why did Gandhiji called off the Non Co-operation Movement?
AR (FF TR WA SORIT FEA?
(n) Who is the author of ‘India Wins Freedom’?
Zfenr T2 fFow agba wiie @2

P.T.O.
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(2)

What was the slogan of Quit India Movement?
TITS RIS FTHEHIT G 1 &7

Group — B (3-R®t?)

2. Answer any ten of the following questions: 2x10=20
e dem 100 @@ @ @ i Ser e

(@

(b)

(©)

(d

(e)

®

(2)

()

®

0]

(k)

M

What was the ‘Citadel’?

e It fezr

What were the ‘Three Jewels’ of Jainism?

e faag e

What were ‘Vyabahara Samata’ and ‘Danda Samata’?

FIZF ATOI 8 ‘NG AT J[I?

What were the ‘Four Noble Truths’ of Buddhism?

QRacia BRI arfrer I

Which Gupta king is called ‘Indian Napoleon’ and why?

@I @8 e SRR @i T e 99 @7

Who were the ‘Alvars’ and the ‘Nayanars’?

EQE 8 A FIRI?

Give the names of any two Silsilahs of Sufism.

R TR @ @ G5 Frafenczg T Se vt

When and between whom was the Second Battle of Panipath fought?
IR 8 A T oo sAfoes g7 @iz

What do you mean by the term ‘Jama’ and ‘Hasil’?

T’ 8 Y IECe I Q@ARN?

Write the names of any two foreign travellers who visited the court of Emperor
Jahangir.

A0 SRANEE THAE SIS F-5+ [l A6 Y @)

Who was the last Mughal Emperor and where was he exiled to?
O YR A (F e Gk ©ie @1 i s zgfeen

What do you mean by ‘Jallianwallabag Massacre’?
TFRNSTEIRN TSP IS F (@142

(m) Mention the names of any two Indian Extremist Leaders.

(n)

@ @ 7& OISR 5INAY (FoIF AT (=7 |
Who announced the ‘Communal Award’ and when?

remifis bR WS @ @l v 99 -
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(0) Why did the Congress reject the Cripps Mission Plan?
TP fIFort R gur ereram Iwfen @2

Group-C (o fRetet)
3. Answer any four questions taking atleast one from each section, the remaining from any section:
5%4=20
fafERe dxefm Wy o aet e w3fd v w2 AFH @ @ Tt e e @ o
a7 Tag whe: '
Section-A (27 T24)
(a) Discuss the main features of the Harappan town planning.
A FErOIT T STEAE Y5 LIPFel AEna S
(b) Explain the causes of the rise of Magadha in the 6™ century BC? .
LB T ot TonxE T RIS G FwE
(c) Give a brief overview of the welfare oriented ideals of Emperor Ashoka.
Y6 FCANPE TP ameea Sog AeHg ¢t wns
Section-B (FShw wex)
(a) Write a short note on the ‘Kitab-ul-Hind’.
fFoR-Ba- =7 i Adfwa Bt @1
(b) Explain the contribution of Kabir or Sri Chaitanyadeb in the Bhakti Movement.
SfF FCHEE TN T QLEONR-GF T 1 I |
(c) Write a short note on the Mughal ‘Mansabdari System’.
I TR SAF TofF e Biat @
Section-C ($SI¥ &g=)
(a) Examine the importance of East India Company’s ‘Grant of Diwani’
355 3feq @rAfRT ‘reui Fe-93 eF g AL I
(b) Write a note on ‘Paharia Uprising’.
SIS TYRI-9F TR 936 DIl @141
(c) Write a note on the Preamble of the Indian Constitution.
SO FRYAT ABRA THF G0 BT (71
Group — D (3-Rer)
4. Answer any three of the following questions taking at least one from each section:
#fe |t (A GIB W QI foqb eres Te we: 10x3=30
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(b)

(@)

(b)

©)

4

Part-one (297 9)
Discuss briefly the life and teachings of Mahavira.
TR QA ¢ Rl st DAl o
Write a note on Varna and Caste system of Ancient India.
it erarea 3§ Wiferen 2l T @
Discuss the Marriage System in Ancient India.
SIS ©1aTs KRR &Rl It DAl S|

Part-two (S @es)
What do you know about Vijayanagara from the accounts of foreign travellers?
W BT R e Remee ST F e T2 :
Discuss the influence of the Sufi Movement on Medieval India.
TRCIT SIS A ATHEARS O T AT Tl
Describe the Land Revenue System, introduced by Akbar.
WP SIS PRAITH-IIZ T LD ST |

Part-three (Yo7 92)

Analyse the nature of the Revolt of 1857.
1857 Aroiwd WIS viea Resmd @i
Write an essay on ‘Civil Disobedience Movement’.
3 AT AT T G0 T o1 S
Discuss the role of Netaji Subhas Chandra Bose in Indian National Movement.
SIATST T AT FOCT (TG TOIRbT P G AN ST 1
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Pre-Degree Examination, 2024
Rabindra Sangit (Elective)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

e oS wRfe | aRele @ I fofs ted T me 8xbr=03

s FOT IR @ @A 9B 72epieited 3 wieedw Tt fform Fe v
Y ﬁma&@ﬁ@@ﬁamqwazawmwﬁmmmsﬁ)

LW T i {},5/, 0,9,[] 8xQ =br

o1 fEfRe @ @ 9 SR+ «Afsa s 8+8 =br

(e, g, cosul, favfas awer)

81 FET (R b Wt B 9fS Siteta AW @1, @I O o APy 8 (Y (e |

3+ =br

¢ TR o G ¢ & R @3 g @ @A 9IF o™ @err A A we )
QUGERCIGETRREY|

Y | FAFFLT N A AT SR TAE AL B I

2+H9+8 =br

b
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Pre-Degree Examination, 2024
Physical Education (Vocational)

Time : 2 Hours Full Marks: 32

Questions are of valwe as indicated in the margin

Question No.1 is compulsory and Answer any three from the rest.
1 7t o wRiE a3t A @ @ feafd dves T3 e

1. Answer any eight questions : 1 x8=8
@ @R Wl avm TEr We .

a)  Writc down onc bencfit of Vajrasana?
Fgrite «3fs Taefae @w?

b)  Write down the length and width of a Football Ground.

Jhawm WMOR ) ¢ #TEE W A
¢) ‘lay-up Shot’ is associated with which game?
‘@-e 5 (@R (PR Y [E?
d) How many chasers can participate in a kho-kho Match?
Q3D od.0q (WM FTER QAT (chaser) AL FACS *MA?
¢)  Write two Sprint Events.
4t & AfeIrem GTeR JR
f) “Take-off Board™ term is related which to Event?
“Take-off Board” 3916 @R RS(H2 A* 18?2

g) Write down the length and width of a Volleyball Court.
oo sferem Tz g § =ATEE W AT

h) Write the Diameter of a shot-put circle.
5o JET I FS AN

1) What is the full form of F.1.F.A?
‘FIFA" -3 o 3<fs &

i) How many lancs are there in a standard Track?
o3 e G FSSM R A2

t

What 15 the meaning of Physical Education? Discuss the modem concept of Physical
I-ducation and its need. 24338
ordve faere ad F? o fewe @l N ¢ grEEES FoTE Fwre A
¢4

P.T.O.
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. Write down the meaning of Communicable diseases? Discuss the common preventive
measures of Communicable Diseases. 2+6=8

S ifeE o 7 eaws i My dferay T Tafoef Qe 33

. Write the full form of ‘FIRST AID’ Write the Duties and Responsibilities of a First
Aider.

2+6=8
‘FIRST AID’ 3267 2fe wrwmm wrefe ad @14 a3om eidfie afeRumeas
Vg 8 IO FWHTE ATEHA 41
. Write down the bad effects of alcohol and drugs on sports person. 4+4=8
AR o T 8 @ @9 F-doRaf @

. What is Yoga? Write down the name of any four Asanas? Write down the benefits of
any two Asanas? 2+2+4=8

Qe T2 @ (@I HRD AR AN G2 (@ (@ G AR SIS AHAE (1

. In which year modern Olympic Games was started? How many wings are there in a
modern Olympic Flag? Briefly discuss about ancient Olympic Game? 1+1+6=8

To BB AR TR oF T A G o] a3 e Feef T
F? AB AT T LR S
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Time : 2 Hours

1.

[

W

Pre-Degree Examination, 2024
Fsraj (Vocational)
Full Marks : 32

Questions arc of value as indicated in the margin
Candidates are required to give their answers in own words.

wiFd ey Aednef g am Fe
Answer any four questions of the following
@ 1A SR Atiw BeR wre)

Write down the theoretical descriptions of any tow of the following:
fRaffes @ @ 9f6 anse @ «fsa we
Bhairab. Yaman. Khambaj. Kafi.

4+4=8
o33, T, AW, I

Identify the right name of the Raga (any four)
o Al Bfre w3 (@ @ v1al)
a) Sa, Ga, Ma, Pa, Dha, Pa - Yaman.

2+2+2+2=8

b) Ni. Re, Ga. I\l/l . Ni . Re Sa - Kafi.

¢) Sa, Re, Ga. Sa, Re Pa Ma Ga - Bhairab.
d) Ga Re Sa. Dha, Ni Dha Ma Pa - Bhupali.
e) Ga Re Sa Dha, Sa Re Ga — Khambaj.

M oA W A ¢ -3

a9 % f @ 1 -3@
AM@A, WA AT AR
o 4 ¢ o« 3T A-g
S @ WMy WM A NI

Write down a drut Gat sthaya and antara of any raga along with altered his tanas of 8
matras in Bhatkhande Notation system. 6+2=8
@ @EE @B AER TR @I TWA R IAATF qfo b WAl SEHR Srode Tl
“afers @12

Describe any two talas of the following.

4+4=8
faeffre @ @ 46 o Rawd wie
Jhaptal. Trital, Dadra, Kaharba.
2forem, fgeE, wmdl, IR
P.T.0.
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_ Discuss about the Rejakhani Gat in brief.

@SR oe T AT AT P

. Draw a sketch of an esraj and identify the all puts of the same.
ol s wEd e e aeief fofrs =4

. Discuss in detail of Raj Jati.

o ifs s7EcH oW ScEn 90

. Write short note of any four of the following Musical terms.
frfrs efos s ofm g @ @i Srafbe Bt ¢
Nada, Thata, Pakad, Tal, Matra, Anubadi,

W, $15, *FE, O, W, Sl |

2+2+2+42=8
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Pre-Degree Examination, 2024
Sanskrit (Elective)

Time : 3 Hours Full Marks: 80

Questions are of value as indicated in the margin
y | FsfiRe @ e ¥ aet A M Il *R=R
3) Hmmlﬁmm—aﬁﬁmg@ﬁaﬁ%l
2) W;-@!wgaﬁ?sﬁamwlaﬂmﬁ%ﬁaﬁqr
5)  Prehe PRASH: Traamd oF: | o T T T | el e
e 3fd|
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Pre-Degree Examination, 2024
Batik Work (Vocational)

Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin
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Pre-Degree Examination, 2024
Rabindra Sangit (Vocational)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin
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Pre-Degree Examination, 2024
Japanese (Elective)

Time: 3 Hours Full Marks: 80

Questions are of the value as indicated in the margin.
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B I FTOOLARREZEFICEIRIV, 1x7=7
KA @3oBA AT ES3E5D LeLA TIHL HVdA

BB II1. TORBOZLEEN I I TFICEE LIV, 1x6=6
Skin  News  Shower  Party  Curry  Philippines
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7. Mr. Ali learnet Japanese in his country.

A . Miss. Tara is looking for a present for her younger sister.
. The orange flower that blooms in spring is called Palash.
. The venue of the party is same as last year.

A Please let me know what time the party will start?

77.1 play Badminton with my younger brother.
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Pre-Degree Examination, 2024
d Work (Vocational)
2H wee ( Full Marks : 32
[ime : ours

Questions are of value as indicated in the margin

Attempt any four questions. 4x8=32
@ @I B 2T TEF MS|

_ Sketch a Mortise Gauge and show its parts. Different between Marking Gaugi;i_ngd
Mortise Gauge.

a3l TR (e (§E0) TR 9w @ orFd e e e o 8 oA CNTF

g ALE @O

2. Write short notes (any four) : 5131 (7% (¥ GITCA! 17510)] 4x2=8
(i) Cambium Layer (#%9) (ii) Try Square (TGM)  (iii) Grain defects (@ ¢are)
(iv) Heart wood (371 F1%) (v) Enemies of wood (I ¥F) (vi) Saw  (FATO)
(vii) Annual Rings (3¥6F) (viii) Chisel (i)

. Sketch four types of Nails. When would you use screws in preference of Nails? 4+4=8

PR AT (IETEE TR OE IR 99 9N (IR ARSI FAER?

What is the cause of defects in timber? How many types of cheek defects in the timber
and write down the names. Describe with sketch of each cheek defects in timber.

2+3+3=8
IR Frox TR 57 FHT FBA (I IS IR @I AN FH1 ATHIIG PO IR

- &fT o IR I we)

5. Briefly describe about the Sal wood or Sissoo wood.

8
e 10 @ fe 10 o Reifre 3 wie
What is wood seasoning? Describe different methods of wood seasoning in details.
2+6=8
F1b wFIAA 57 [fSq oo I vEdan afosii Ruifre 3k wis
How many types of Polish? Describe how to apply of Galla polish on wooden articles.
2+6=8
e TS 2AITR? FIA IFA TR AFT AT IR TG ST 511
Find out the volume in cft of the following pieces of wood {an
.{any four) 4x2=8
frfeiis S0 femesfr e afer w2 (@ @ )
1

. ' ~ 1 ] s ' n "
i) 25 x4 x25 x6pes. i) 8'-6"x4"x2"x10 pcs. 1ii) 11"x10"x8"x 11 pes.

iv) 9x35 x2"x4 pes. V) 6'—6"x4"x2" x5 pes. vi) 10"x9"x 8" x9 pcs.
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